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Question # 1
(i) Since sincrcos f =sin(@ + ) +sine~ B)
Put =30 and f=6
25in36 cos6) = sin(30 +6) + sin(30 )
sindf +sin26 o

(i#) Since 2coscrcos f =sin(@+ ) ~sin@ — B)
Put =56 and §
2c0s 56 cos 30 = sin(% +30) —sin(36 ~36)
=sinf —sin20 o

(i#i) Since  2sinarcos 3 =sin(a + ) +sin(@ - )
Put =56 and f=20
2sin 56 cos 26 =sin(56 +20) +sin(30 —20)
in76 +sin30 o

= 5in$0c0s20 =3(sin76 +sin30)

(%) Since ~2sinarsin = cos(@ + B) ~cos(@~ )
Put =70 and f=260
~2sinarsin B = cos(@ + )~ cos(@~ )
~2sin705in26 =cos(76 +26) ~ cos(76 - 26)

=cos99 —cos %
25in785in 26 = cos 36 —cos 99 o
@)  Sice 2cosasinf =sina+ f)~sin(@ )
Pu a=x+y.f=x-y
cos(x+y)sin(x—y) = sin(x +y +x ) ~sin(x+y-x+3)
=sin2x—sin2y
= cus(x+y)sn(xfy):%lsm2rfsm2y} o

i) Since 2cosacosf=cos(a+ B)+cos(@—f)
Put @ =2x+30" and f=2x-30"
2cos(2v+30"cos(2x—30") = cos( 2x+ 30" + 2x~30°) + cos( 2x + 30" ~2x+30)
— cos(4x) +cos(60°)
> cus[h+30')cus[2x*30":%{cos‘lxi»cosﬁo’) a

i) Since ~2sinarsinf} =cos(@+B) —cos(@ ~ B)
Put a=12 and f=46
~2sin12"sin46" = cos(12 +46) ~cos(12 ~ 46)
0558~ cos(-34)
0s58—cos34 - cos(~6) =cosd

= sinl2'sin46 = %lcossx —cos34)
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